T ﬂg O

2 =
S 6 FE
NEBEVNEEIMESESEZE

d=
=

B R | X | K| KA & | % H 4
r

21 | 22 | 23 (24) 25 (26) 217 |2 | 3
q:15~ 9:30~ 9:30~ 9:30~
I6A:55 1 6:40 16:40 16:40

28 (29) 304 31 4 | 5|6 7|8 |9 10
q:15~ 9:30~ 9:30~ | 9:30~ 9:30~
[7:10 | 6:40 16:40 | 16:40 16:40

18 | 19 | 20 | 21 | 22 | 23 | 24

# NIEE
8 q 10 | |2 |13 | 4 9:30~ qsz; ci:i;
: 16:4 :
T 1 6:40
9:30~ 25 | 26 | 27 | 28 | 29 | 30 | 3]
10:30 —
2 % % = *Ejfi%ﬁ
oo Yoo
' ’ 16:40

W ER BV EETHE
AYUFxa27 L 1306EE (N 40.5 BEABERE) Sk,

| EFEREOEZRABI,H Y £7, [ JunsEmeoesmeo
FREHTY

B A FIRVARHE o
AUFa2F5 L2 B (A 10.5 BEIRERE) SHEE. IF AP T

BT FERY £,






